3UDFRZQLN 5RINiDG

/DVIRB

_VLCIHN ODULXV] PJU 7\J

o
™
=
n
oD
D
—_
o
7N
=
T 3UDZR DXIRWNH Z . Vig
o THN ODUXV] PJU =%
7 35% :
U GURGD
DICFLD IDN Z SlgiHN
[a e
©
7\6] 7\6] 7\6] 7\ 7\6]
3UDZR DXIRWNIH Z .Vig 3UDZR DXIRWNIH Z .Vig 3UDZR DXIRWNIH Z .Vig 3UDZR DXIRWNIH Z .Vig 3UDZR DXIRWNIH Z .Vig
THN ODUXV] PJU =% THN ODUXV] PJU =% THN ODUXV] PJU =% THN ODUXV] PJU =% THN ODUXV] PJU =%
35% - = 35% = = .20387(52:% .20387(52:% .20387(52:%
35% - - 35% - - 35% - -

a)
T 7\G]
) 7\G] 3UDZR DXIRWNH Z .Vig
T 3UDZR THN ODUXV] PJU =%
o DXIRUNH_ 35% - =

Z .ValH

N ODUXV]

P =%

35% -




